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�������� ����������ℇ = {%1, %2, … , %!}
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����• + = , 1,-. /. 0
−1, otherwise
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�����• :;~= + · ?;, @ABC , �����������
�����:%~=(+ · ?%, @EBC)
?• ; ∈ ℝ

IA , ?% ∈ ℝ
IE

J• = K(:;��:%�
�����• �

��
������"��
������• Φ����
��������M
• N+ = @(MOΦ(J))
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min• ℛESTU(Φ, M) !�����ℛE(Φ, M) = V W,X ~YE[[(@(MOΦ(J)))]
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|ℰ| ∑(∈ℰ ℛ

( (Φ, .)
	����� ������$����• 01
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• min234(∈ℰ ℛ((Φ, .) − 6
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• min&,( )

|ℰ| ∑-∈ℰ ℛ
- Φ, 1 2. 4. 1 ∈ arg89:;( ℛ- Φ, <1 ∀e ∈ ℰ ���


���������!�������•
• min )

|ℰ| ∑-∈ℰ[ℛ
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���������• Φ # = %&, ()%* +ℎ*-* ∀e ∈ ℰ��()2* = 345 62 62 78 9 :7#*; 8&9<9-

• ⇒ ()%*"!~? @ · ()2*� ( 5
5345 = ?(@ · 345 62, 345)
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ΣEF(2F− 2H) ⇒���������
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�����������2 62
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��&������•
	��!" #�"�• Φ and % %������!�����!"�����"�����"��"�����"�������$� ���"�� ����"� �
���"���" ���������"��&�"�����$�!������"�����
�!��#"�����"�"�!"�"����
�"���� ��������" �"���� �!#�"!•

��
������• ℬ "�����"���#������������!����"� ����"������'( %��������"���!�
��!"����"���!�����!�� ���"��"���$� �����"�����������#���"���
���!# �����ℬ) = ℝ,-\B �&��"���!"���
��• 
������Φ(x)=[4)] ���ℬ ����Φ(x)=[4),47]8 ���ℬ) �������"�����%�
��$� �����"����"# ��'��� �!��� ��%�&�� ���ℬ��"���� �����!�������"���
!�����"��!������������ !�� �����
�!��#"�����"�"�!"�"�����&��"���!"���
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• Reduce “find a classifier !” to a Gaussian mean estimation problem 
where the mean parameter is θ∗ = !

�	�
���� ��� ��

�����% ≤ '(
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To prove IFM outputs a feature extractor • !1 . . . !$ that does not use the 
spurious features, we need to show that the right %& columns of matrix 
!$ …!1( are all-zero.

�
�����	 ��� ��

Since U is orthonormal, IFM outputs • )* = *∗
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�����������������Ω+ ((-/%1) ��������������
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